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1. wore figr RIWERA M1 i Taeh amht w4 -

1 xX6=6
Choose the correct answer from the following
alternatives :

(@) AR RS A0S @ 71 g
‘Statistics deals with only

(i) B7MS ©US
qualitative data

(i) RS 9T
quantitative data
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(2)

(iii) (i) W< (i) TCACI
Both (i) and (i)

(iv) ©7<q oIS =7
None of the above

(b) Bl B2 MREfeS HADRSF @RF AADS =l
TTH @RI
The observation which occurs most
frequently in a data set is called
(1) 4=
median
(ii) I==
mode
(iii) FTIEI TG
arithmetic mean
(iv) BCIred 14
geometric mean

(c) TRoaem TR 27 TR
The measures of dispersion cannot be
(i) *I0
zero
(i) 4=
negative
(iii) P
positive
(iv) Tf
three

ed)

(3)

(d) =3 e T B

TR I 727 9
Which of the followin g5

g is not a Possib
value of correlation coefficient? Yy
(i) -0-8 (@) 15
(iii) -0-07 (iv) 0

(€)Y =21-3X ethro v 2

In the regression e
the slope is

() 21
(iii) -3

quation Y=21-3x

(i) -21
(iv) 3

R/ i e

Pn'ce_ relative is equal to

bfeT® 99 e
fefe w5 3em

price in the current year
price in the base year

. oS gy
W e 100

price in the base year
price in the current year

(iiy) fere I I x 100
price in the current year x 100

(iv) fef& 4930 x 100

price in the base year x 100

(i) x 100

x 100

x 100
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2. wore il PR RirE Ted o 2x6=12 3. (@) AR S G R T T S |
Answer the following questions in brief : ARAGS ©Yq AR e LT
(@) @IS ST RIS ©UT H&TS AL SHITT | AR PR F R0 S S <
e forn | _ 7 ﬁ'ﬂwm@aﬁmq (GIrm) 52 2+41+5+1=9
Differentiate between qualitative and ‘ Distinguish  between primary and
quantitative data with examples. | secondary data. What are the different

measurement scales used for measuring
quantitative data? Explain with suitable
examples. What is tabulation of data?

! w1/ Or

(b) T [ oS e 3 v A2
Why is median called positional average?

(o) ﬁ@mwww%ﬁsm?

What are the requisites of a good : | b
measure of dispersion? ‘I (b) TN R SR cFae RRlAE e
: 90| Q9 FqTel A 2 A 9F B« 51

(d) Wﬂ; T@mﬁ’ F5TS RS 2 STSHRAPTIR L ML G o W
: ; : Explain th ; . Y TR
State the assumptions relating 1o ‘ re}g;) . 4 of: ?:ISt;'uctlf)n of histogram in
Pearson’s coefficient of correlation. q : class intervals. What do
you mean by independence of attributes?

() 2013 v fofe wf fore a1 2014 59 Te0 ; Give a criterion for the independence of
oI 125. 7 Rafecer e o | two attributes A and B.
«Index number of prices for 2014 taking 4
e W
2013 as base year is 125.” Write the AR =/1 R et gt 29 Ted o -
meaning of the statement. \ ' 5x2=10

Answer any two s Ay -
questions from the following :
(T Rofs < s o xe@ fofe T IPppIced 5

e 51 SR S S o | | (@) &M ofeq weiw e fon i W @&
Distinguish between a fixed base and a | 1S9 (MBIt Tofc Sl 41 | 2+3=5
chain base index number along with a Define measures of central tendency.
suitable example. Discuss the characteristics of an ideal

measure of central tendency.
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(6) (7))

(b) B TN XS 1006 I e I @ 15

S. ©e FEICRE R R I Gt e Boq e -
i T R 3. 3 (bR cabebiee 2505 6x2=12
W@ R I@ AT 156 AF AE ([pIS Answer any two questions from the following :
mwﬁraiﬁacmwm ‘. (@) RrEs IR B R oyen @ v

| BRP 7 JARY S (o AR K1 8 |

The first of the two samples has
100 items with mean 15 and standard
deviation 3. If the whole group has
250 items with mean 156 and s.d.

| 2+4=6
What are the uses of correlation? Show

that correlation coefficient 7 is indepen-

| dent of change of origin and scale.
J13-44, then “find the standard ? E
devjaﬁon of second group. (b)) &RT TRER W%W & 9
Y=5+2-8X 9I¥ X=3-0-5Y, Y7 <°qs
X ¢ X S[{0 Y A FREeT wReqq
() & s weafomy em Fm o= 9o 2’9 A ? ' 2+4=6
ROTR 2437 Bik01 & gt 24 0, 25, 0-7 What are the assumptions made
I 1875. RITOR ey wie EE in linear regression model? Can
T CRF AN o Reqw g Al Y=5+2-8X and X=3-0-5Y be the
@M ART R AR R e e estimated regression equation of Yon X
40| 1+2+2=5

and X on Y respectively?

What purpose is served by skewness?

The first four central moments of a (c) T OIS ORHT TRTEH BIRFI e
distribution are 0, 2-5, 0-7 and 18-75.

Rl | y = a+bx+ox? TR B8 f&F cRIIE
Check the skewness and kurtosis of the

i " a bIF cORTS | 2+4=6
distribution. Discuss how the kurtosis 5 41, T'© @

of a distribution can be measured. Define partial correlation coefficient

with examples. Fit a second degree
parabola of the form y=a+bx+ox?,

. where a, b and c are constants.
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6. (@) () T M e & =2 o WA SO
FECe AN @A TR Sl
34 | 2+4"’6
Define index number. Discuss the
various problems that are faced in
the construction of index number.

() ‘P IR wr T
@TEE 1 RYRD =08 341 | (02F-ER
FceTA RYrR /2 2+3=5
“Index numbers are economicC
barometers.” Elucidate the state-
ment. What are the advantages of
chain-base indices?

291/ Or

(b) () T pIRe o s g e =0
(ST @ 2 T ARG WE IR
SRS R qEAbE TR Fq | 2+4=6
Why is Fisher’'s index number
called ideal? -Show that it satisfies

both the time reversal and factor
reversal tests.

(@) Teel T opere e Fu RS
oo R St 4 | 5

Discuss the different methods of

construction of consumer price
index number.

L & -
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